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® =4l AL XIS
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— Z491C 014 (300  5008!) * 2 300,000 &
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® K_MoveAZAI AL 29l & SHATIE S 3,00( 150,000,000 2
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— SHAHSI IS [MS] (16 * 500,0002) * 2 16,000,000 &
— UATHS S| [H O] (58 * 500, ooo°4) * 2 5,000,000 &
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—B A L3 (5% « 500,0008) * 281D 5,000,000 &
—JIEF D12 SH (12 * 3,000,000) * 28| 6,000,000 &
@ SHMT [§SHS=23|H E3-2-2 e M= XX 2

—= D812 200,000,000 200,000,000 &
® st WA (I35 IHI S=23H E3-2-2 T &4

—WeIFEZ ZIH0l HE XIE S} 65,000,000 65,000,000 &
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BHI: 437,378,000 #
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Ad|aEaREE
—QPAIMO0ISSLHHINK S SHM2LZ 150,000 90,000,000 &
OFmE R
—AYEPAF S BT Y| 12%90,0008 %23 180,000 &
—AHEHAL OT 2| 602 * 30,0008 *23] 3,600,000 &
—AEHAL 224l Y 29| 60+ 40,0008 * 23] 4,800,000 &
—AYEEAF IS 2| 70,0002%103%25 )| +ALTH 50, 2,400,000 2
—ZOHALRIILE 2448 STHUH0I K 200,000 %103 2 4,000,000 &
—QIEI AL AL 2 THHI & H] 30,0002 +8Z*23] 480,000 &
—A A 2 22 5] & ALA] 10,00050 %23 1,000,000 &
—2Al O A B E 260,0002%23] 520,000 &
© MY, B #AH I L SZ 2| 20,0008%10 4,000,000 &
® 20t 23D XY 20,0002 +10Y*4)H 24 3,200,000 &
© SF24F242 100,0008+38H+47 H 1,200,000 2
® EUFSH2S 3 100,00081%20% 2,000,000 &
® EUFHSHS 53 200,0008 %20 4,000,000 &
® ta ArH| o T0H 200,0002 %23l 400,000 &
® QP25 HE & JIEHSHAEIS 50,0002 *50% x45 10,000,000
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© YE E2UANE S A2 AL 20,0002 * 2,000,000 &
® YEI|ZH E SLA 20,0002 %501 3] 1,000,000
QIZOISEHM AL RIS 10,0008 %502 x23] 1,000,000
QIZOISEM TR 170,0002%153] 2,550,000 &
® QMBI HENLDS S £ EFX 2 A 1,000,000 &
‘QROIBHMO| U S J|EFB AN 20,0008 %50 1,000,000
@ AlH| 90 *6,000 2 %241 %202 21,600,000 &
® 2D 90%«10,000 900,000 &
@ FHAAHSHUBAIY 6,000,0002 6,000,000 &
@OISML R EAF KHZH D E
—Al / 2FAIH| 12,0009 %5008 +11Al%23] 132,000,000 &
—OI A 2AH| 17,0002 %5002 *23] 17,000,000 &
—299H| 273,500,0009 23| < = A S BHE 29y 547,000,000 2
@OISMNL T CAF R DHE XA S5t A
—H 1Al 2 9IH| 20,0002 %135 2,700,000 &
2EMIIXI DI A2HAH] 12,0002 %135 1,620,000 &
—ZEHOIX DS 2HAH] 2,0002%135 270,000 ¥
—XIHALS] AFBHEIE 4|3 S SH| Al2HAH] 12,000 1,620,000 &
—XIHALS] AFBHEE YT Y S S 2THHIE 35,000 5,075,000 &
—M Ol Al XIS H| 35,0002 3 A1 2t+3 %23 630,000 &
—XIHALS] AFBHEE 14| T DS SH[100,0008 *35] 600,000 &
@OIAMNLXSAF N2 DE Q1L 235F XA ALS AlF
—2HAIH] 2,000 %1202 +33] x5 )| 1,440,000 &
—224| 5,0002+800Y 4,000,000 &
® B==R 1,000 1,000 &
© 2NLE HIQIE K= 6,00020%300% 18| 1,800,000 ¥
® ZUA 22X M=
— 5024%10,0000H 500,000 2
® HEAAS B4 30,0002 +52 3 450,000 2
® BEHAAES 22 20,0002 «5A1 2Hx 12 1,200,000 &
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® AlQIA Q2| E0l & ZHAFH]: &4 HF100,0002 *1 100,000 &
® BIHUAARE AMABA DS Z A 100,0002* 500,000 &
® BIH LA LRE DS Z A 20,0002 55A1 2+ 1,200,000 &
© BIAYALRG HA AFRE: 32,00090%110Y 3,520,000 &
® AXESE HSHATHHIA A ATHBHOIK: 100,00 9,000,000 2
® OIEl ZCHATHHIA ZFARH] 27 HE 100,000 <3 Al 8,400,000 &
@ Ol MOl IS AFEHHI: 100,000 43|+ 12 4,800,000 2
® QAALTHS! AJA 100,000 8 %254 1,600,000
@ AN 2 2 ATUIOIX S: 75,0008 +32 025,000 &
© 22Z H0lA L LHKI: 3,20021 %1004 320,000 &
@ A2IZAF £ 72 MMPI 5,000 «4002+TCl 3, 4,140,000 &
©® JHOIATHHIA AFEE: 120,0009«3402H4%0.9 36,720,000 ¥
® 92 HOIAL2: 40,0002 *30024%0.9 10,800,000 &
® 92 HE, BEAE2: 80,0002 *20H*0.9 1,440,000 ¥
© ST LEIWQIASE: 70,0002 %1024%0.9 630,000 2
® ST QEHE, SLALZ: 100,0002*5240.9 450,000 2
® ZHIE 2l 2 Al THEHAE: 180,0009%4024%0.9 6,480,000 &
® EHIEI2l 2 Al 2801, ZA: 250,0002 %22 ( 450,000 &
® 2 A DS HME: 300,000 1 3] 300,000 &
© AALBM D5 HIE: 4,000 10213l 440,000 &
® 28 AAMX L BE2 HE: 2,500,000 3] 2,500,000 &
® 2 AAX L BE2 HE 01AH|: 150,000 %3¢ 450,000 &
® IHHE HA: 270,0008 13 270,000 ¥
® EHOIX SXI 22l 110,0008 %123 1,320,000 ¥
® ZHO0IX 213 0ISHI: 500,000 +13] 500,000 &
@ 3t3] JF2J| 2 913/H: 600,000 600,000 2
® 35 9 AL 20,000,000 20,000,000 &
® YEIAI DS
—Z% 2|0 DS YL YA O AlCH, 2+AIH| [D,000 8,000,000 &
— =% 2|0 18 WEZHIHl 250,0002%43] 1,000,000 ¥
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— S GF AQ,CHHE 12,0002 %102 %43 480,000 2
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— HIAHFE 791 500,0002 +281 )| 1,000,000 2
SELIAHE M4 5,0002+40S+12HS 2,400,000 2
— HAES 8279 200,00021+63] 1,200,000 2
— MEE ZQ5HE 5,00021+2,000 10,000,000 2
— ®XI X 60CH*100,0002 6,000,000 &
— HIEDI 3CH%1,000,0008! 3,000,000 &
W& D 200H*400,0002 8,000,000 &
— ME2 9| X 5074*80,0008! 4,000,000 &
— MEZ AMOA 2QEAF 24| 500,00021%13] 500,000 &
© MEZ M2 T2 Y MBI
— QAMA AI2| AFEF 2HAIH] 10,00021% 1502 %28t )| 3,000,000 &
© MEZ M2 D23 Y MBI
— MS O3 AlTHYI 10,0002 %3002 *23] 6,000,000 &
— MSMHE AEY| 10,00020%1002 %23l 2,000,000 &
@ JI=A B 2% A
— BIEIE A 9007H%10,0008 *23] 18,000,000 2
— HER2IA B4 1,9297H%12,0002 23,148,000 &
— HIEDI W= &4 2604%100,0008 2,600,000 2
— AL, OFAEFS B4 94JH*45,00021%25¢))] 8,460,000 &
— SAIZMY I £HUIS 180,0002 1202 2,160,000 &
— SA2MY | 22lS 200,0002 %207 4,000,000 &
— OIZ M E 100KIE*20,0002 2,000,000 &
— SHAMEP SE 9 2,000,00080% 12042 24,000,000 2
© ME oM T2
— ABER 2HAIH| 500,000 %28} 1,000,000 2
—AHAMZE DS IHSEQAH| 15,0008 ¥2AI 2+ 180,000 2
— MEAMZE D] ADEH| 300,0002+63] 1,800,000 &
— AT AMZE DS AlHI 10,0002 %1563 900,000 &
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© HAMED H RN 220
— AEFEHIOIZ ALTHH| 10,0008 %202 x25t )| 400,000 2
—2AAB 2 OHSI| T2 AITHH| 10,0002 <202+ 400,000 2
— 2101813 B SH= SOl ALTHYI 10,0008 %209 2 400,000 2
— LIS F0bJt= OHS I8 AlTHHI 10,0002 %1210 2,400,000 2
LIS R01Jb= DIS 018 DIHH] 15,0008 %1225 360,000 &
— LI8 RO0IHs S240I8 AlCHI 10,0002 %1510 3,000,000 &
— LS R0ts SA0S FHISBH| 7,00090+15% 210,000 &
— LH2 RO0IHs 012018 AlCKE| 10,0002 %1510 3,000,000 &
— LI2 F0bt= 01208 FHISEH| 7,0008+15% 210,000 &
— QZ=BI0| Q01T CHEH Zat= B AITHHI 10,0002 %) 3,000,000 &
— U=B0| Q0T HE BBt © S AASEIIE 50,0 300,000 &
— El2tT2HD ALTHYI 10,00021+20 2 %55(%251D)] 2,000,000 &
— B2t 02t ZHI2BH| 7,0008 %202 x25t )| 280,000 &
— 52 Db A& Y XIRY| 15,00020+202 %63 1,800,000 2
— 52 BHLEE KA AITHEI 10,0002 %20 +63] 1,200,000 &
— &200] 2114 AlTHHI 10,0002 %36 *55|%25¢ D) 3,600,000 &
— 2RICE ATHH| 10,0002 402 *63] 2,400,000 &
— 2RIHE HAEE 200,0002+63] 1,200,000 2
—JISD NS Bt FHEY S ALY 10,0002 3,000,000 &
—JISD NS st FEER S DI 50008 380,000 2
@ SM=T o XS (MEOM U H DY T2
—SIRA BB, MEH SX PSRRIl 150,0002 1,350,000 2
—SIZARE 24| 1,000,0002 474 4,000,000 &
—H4I| SN2+ 216l 420,0002 1202 5,040,000 2
—EX SF A-CHHEI 12,0002 %5 *43] 240,000 &
—ALTHH] 10,0008 %72 +63] 420,000 &
— 2HAH| 2,0008+7 2 *63] 84,000 &
~THE ZHIH| 250,0002 43| 1,000,000 2
—2 Al 75,0002 %22 *23] 300,000 &
—QI AL EJAL OFLY ALCHHI 10,0002 %102 %33 300,000 &
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—2IEI01& AlCHHI 10,0002 *40Z*25¢))] 800,000 &
—JHOI 2 FErAE T2 2 29 2 AH| 100,0008* 800,000 &
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—HIAIHE AL Q9IS JIEF 22 2 3,000,000 3,000,000 &
—SHI CHIl @] 2bAl, 81248HH] 500,000 500,000 &
—MEHAM B AAR, A2EH|, ATHIS 1,000,00 1,000,000 &
—Brot B AP E 100,0002+12742 1,200,000 2
—22I0H S (20 AT, R4 = d ABY 1 1,000,000 &
—REHM X B1R0| B YAE, AHIS 2,000,0C 2,000,000 &
—212s 2 Ed0lY ZAE, ATHIS 500,000 500,000 &
IS0 NS S8 JLEH STH|, DML, A0 1,000,000 2
—&240] 2IEal AlTHYI, 2FAIHI 1,000,000 1,000,000 &
@ ZOiS M| MIE] (h5HHI S =283 B4-3-2 E0f
—DSE DD MOHSY OIS S HEXIRAY 3 15,000,000 &
@ ATESE (fHSS25H S-B3-3-1 51
—HESSEXNAANY ZRSE L 2SN S 8,000 8,000,000 &
@ [H5t2 NS (HSIRAHIS=33 M B7-2-1 (Hat
—HHOITY Db MI=H] 1,800,000 1,800,000 &
B2:  1,304,973,000 #
4330 2 AIZ2lH| 1,082,400 1,082,400 -
4331 473,000 473,000 -
YAIG ® YSAREHO NNALL(EM L)
— 2 Al-THSIZ 8! 4,000,000 4,000,000 2
® ietel LAY XIS
— ZH 4% 102+100,0002 1,000,000 &
© YSHARH DALY (A=2Y)
— 2 A" TH2I= 2! 19,000,000 19,000,000 &
— FAI-ZII27 8,000,000 8,000,000 &
— ®2l 1,000,000 1,000,000 &
© 2= 22 301 AI2HE*100,0008 3,000,000 &
© QISHI2 A Ol WX 214 EH (WOt )
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— 2 Al- T 2I=281 100,000,000 100,000,000 &
—+ FA-ZIFDE 24,000,000 24,000,000 ¥
—+ B2 11,000,000 11,000,000 &
® B A2 HEAAY 10%+100,0008 1,000,000 &
® BOF &S AD| HE ®I| 60H*200,0008 + =) 21,000,000 ¥
ORIER=E=F 1o imESFIPN=1EC[Pp.NE-TRN=T)
— 2 Al-TH2I281 70,000,000 70,000,000 ¥
—+ FAI-Z=It2Z 50,000,000 50,000,000
—+ B2l 15,000,000 15,000,000 &
ZH| - ®S 2T M| 25%«55]%200,0002 + S| 34,000,000
©® QB DA WA ACHME OHY A E
— 2 Al 2H2 20,000,000 20,000,000 ¥
— XAl 22 10,000,000 10,000,000 &
— H93| 825 = 60,000,000 60,000,000
© UBHADE | I ASACTHS| O] AT
— 2 Al-XH2I=21 5,000,000 5,000,000 &
— HAI-Z=JID 4,000,000 4,000,000 &
® 3]0 &% MJ| 152%35]%200,0008 + S| 15 12,000,000 &
B 473,000,000 €
4332 609,400 609,400
IWNELI © A-HQS QR B9 2P ALY | (22H])
— I8t Al & 23] 35,000,000 35,000,000 ¥
— oistelstE EE2lE| 18,000,000 18,000,000 &
— 2 AISHREE|EDIH] 2 22H| 7,000,000 7,000,000 &
— HAI RS AJIH] 2 29| 5,000,000 5,000,000 &
— o3 XS 10,000,000 10,000,000 &
— %A 27 10,000,000 10,000,000 &
— SNS 2291, J1EF Z'D 30,000,000 30,000,000
© Al-HQIS Q& ME e AF(3]2H])
— ®ME X 2 319 4,000,000 4,000,000 &
— SIS ESAME 2 5,500,000 5,500,000 &
—o® L AJ DAL 2REM 2,000,000 2,000,000 &
— DAFRFES3]2] 500,000 500,000 &
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— st Z2 8 R A2+ 36,000,000 36,000,000 &
—AJIE3 |XIE4 5,000,000 5,000,000 &
—23MEx =22 120,000,000 120,000,000 &
—AD|EHD} ESE]|SE JIEIYAIY22&H 21,000,00( 21,000,000 &
— SIMEIE MSEIIAIAE 6,000,000 6,000,000 &
@ Al-melst D& S5 2l Al | (PR
— 282 MIAH & 2SS 13,000,000 13,000,000 &
— ZAH HIE 15,000,000 15,000,000 &
— MoKt E MZ 9,000,000 9,000,000 &
@ Al-EHelst QE S5 23 AFY (1 (21 2HH])
— FAZEY Y 23 2H 30,000,000 30,000,000 &
— AR & 23 2 30,000,000 30,000,000 &
— YR & 2 2 8,000,000 8,000,000 &
— J|E} 2144d] 13,000,000 13,000,000 &
@ Al-HQIs B ME 23 ALY (K27 2H])
— X232 2,400,000 2,400,000 &
@ Al-molst DE MY 23 AFSH (A2 FHI)
— £=AAZ2E 10,000,000 10,000,000 &
— HAAZ2E 7,000,000 7,000,000 &
— HAUADE 3,000,000 3,000,000 &
— JIEtA2E 1,000,000 1,000,000 &
@© Al-HYS D ME 2EH AP (BS23)
— 2822 1,500,000 1,500,000 &
— E4122 3,000,000 3,000,000 &
— A& A2 2222 10,000,000 10,000,000 &
@ Al-EHels D ME 23 A (AH])

— = AlAH] & 2HAL 20,000,000 20,000,000 &
— AIAH Y 2FA 12,000,000 12,000,000 &
— TQIAIH| & 2HAL 1,000,000 1,000,000 &
— J|EFAIH] 5,000,000 5,000,000 &
@ Al-EHols QFE S5 2 ALY |1 (0d8])

— =Al &= 40,000,000 40,000,000 &
— 8 Al E’;% 20,000,000 20,000,000 &
—HI|2 &EZ 1,500,000 1,500,000 &
— g 893, 9&s, dR2EH S 048l 25,000,000 25,000,000 &
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2 300,000 300,000 &
Host DA MY A AIA(AEAES
SHAE |2t AIZAFR 2 5,000,000 5,000,000
DEIHY SUH R, EH2 = 3,500, ooo 3,500,000 &
QUBIAM B 43]x800,0008 + =)} USHAE 43 5,200,000 &
BHI: 609,400,000 =
4400 DRIH 11,151 782,924 ATT1,773
410 XI 20| Xt - - -
4411 - - -
X 20| Xt
BHAI: -9
4420 JIEI DS 11,151 782,924 ATT1,773
4421 11,151 782.924 AT71,773
E Al 2=3% 1,0002 1,000 &
N
X241 1,000,000 1,000,000 &
AE' 10,000,000 10,000,000 &
2HIY D S22 670,000 +
2RUH B SE=23H A1-1-2 xi_ 12U TH A
—2021304@5 HEJIHE EXIC RHER XIZE 3 H: 771,923,000 &
@ AAE22IH HBE=25H Al-1-2 Xléo?:.fﬂﬁ
—2021'3| AT HENHEEX m = 3 ~771,923,000 &
@ [SIAE2H (HBIHIS= 25| Lot S (TheteY 150,000 &
BHI: 11,151,000 &
4500 ME2 = = =
4510 =2 — — -
4515 - - -
Ses|HHE
BHI: - 9
4516 - - -
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4600 OflHIHI 35,045 35,782 AT737
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® JI= A JISAFS 3| oilblbl22] oHI8 : 3,000 3,000,000 &
®JIEX HOHEAMDSASS S| oldHI22] ofdlH 3,000,000 &
® DX OB DISAFS S5 olylb 22 ofdlbl 3,000,000 &
© DB AlStDSASHES N ollHiH 2l ol ;3 3,000,000 &
® JIEH AT DKASES|H ol 22| o 422,000 &
@ JIZ X EHIS= 233 ofdib22] oibibl 1Xt 3 -2,434,000 &
@ D12 JISAIS S5 olbibI22) olblbl 11X =3 ~20,000 &
@ JIEH MOBHMDSASHE S olyIHI22 oidlH ~14,000 &
@ JIEH ASAABMDSASH S| H olHIH 22l 0f 8,301,000 &
W OIS (HEASE23 OllbIHI 22l ollHIH] 2% 300,000 &
m JIEH HEHIHIS= 25| H (X 0H) & OHTHEH 0l bt 10,000
@ O X CHEHIS=23 OlHIBI 22| ollblY| 3% : ~27,000 &
@ )X (IErFAS=23H ollbibI 22l ollblYl 3% 2 -150,000 &
@2 X (HEtU TS 3| ofHHI22] 0HIH 3% 3 100,000 &
@ JI= X JI=AISES|H GbidI 22l ldlbl 3K =3 -560,000 &
@ DI X DHErD|SALS 3| oyt 22l ollbIbI ¢ -100,000 &
BHI: 35,045,000 &
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1220 E XIXHAHKI & 300,000 250,000 50,000
1221 - - -
EXNQIISH
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1224 - - -
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BHI: - 2
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253 50,000,000 50,000,000 &
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EECEEEE - -
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a2 ® Ao X5 2T
—0| &t 3,300,000 3,300,000 &
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WX EHISE232 JI222(HISE2) 22
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